

THE C-FUNCTION OF E. W. BARNES

Luciana Lupas

We consider some functional equations involving the gamma function, e.g. (1) and (2). We prove that such equations have unique solutions in the class of logarithmically convex functions. Such solutions give rise to some new special functions.

0. INTRODUCTION

The aim of this paper is to find the solutions, with a certain shape, of the functional equations

$$(1) \quad G(x+1) = \Gamma(x)G(x), \quad x \in \mathbf{R}_+ := (0, +\infty)$$

or

$$(2) \quad F(x+1) = x^x F(x), \quad x \in \mathbf{R}_+.$$

These equations will be solved in the set LK_2 of log-convex (logarithmically convex) functions of the second order on \mathbf{R}_+ . More precisely, a function $f: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ belongs to the class LK_2 if and only if

$$[x_1, x_2, x_3, x_4; \ln f] > 0$$

for any system x_1, x_2, x_3, x_4 of distinct points in \mathbf{R}_+ ; by $[x_1, x_2, x_3, x_4; \cdot]$ we denote the divided difference at the specified points. We will show that the functional equation (1) has a unique solution G in LK_2 , with $G(1) = 1$; a similar result is established for (2). This leads to axiomatic definitions of certain special functions. For instance, the solution G , $G \in \text{LK}_2$, $G(1) = 1$, of the equation (1) coincides with the so-called "G-function" studied by E. W. BARNES [3], [9]. We use this characterization as the basis for the investigation of the G-function.

Our work is motivated by the results from [1], [2], [6]. We note that W. KRULL [5] has considered the functional equation $f(x+1) = g(x)f(x)$, $x \in \mathbf{R}_+$, where

$g: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ is a prescribed function which is continuous, log-convex on $(a, +\infty)$, $a > 0$, and where $\lim_{x \rightarrow \infty} \frac{g(x+1)}{g(x)} = 1$. If we select $g(x) = \Gamma(x)$ or $g(x) = x^x$, then the last condition is not verified; therefore we can not apply the work of W. KRULL.

1. THE FUNCTIONAL EQUATION $G(X + 1) = \Gamma(X)G(X)$

Lemma 1.1. *There exists at least one function $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ satisfying the conditions*

- (i) $G(x + 1) = \Gamma(x)G(x), \quad x \in \mathbf{R}_+,$
- (ii) $G \in \text{LK}_2,$
- (iii) $G(1) = 1.$

Proof. Let $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ be defined by

$$(3) \quad G(x) = \exp \left\{ \frac{x}{2} \ln 2\pi - \frac{x(x-1)}{2} + (x-1) \ln \Gamma(x) - \int_0^x \ln \Gamma(t) dt \right\}.$$

In view of "RAABE formula"

$$\int_x^{x+1} \ln \Gamma(t) dt = x \ln x - x + \frac{1}{2} \ln 2\pi, \quad x > 0,$$

we find that $G(x + 1) = \Gamma(x)G(x)$ and $G(1) = 1$. Moreover, if $p := \ln G$ then

$$p'''(x) = 2[\ln \Gamma(x)]'' + (x-1)[\ln \Gamma(x)]''' = 2 \sum_{k=0}^{\infty} \frac{k+1}{(x+k)^3},$$

that is p'' is positive on \mathbf{R}_+ ; therefore $G \in \text{LK}_2$.

Theorem 1.2. *The functional equation $G(x + 1) = \Gamma(x)G(x)$, $x \in \mathbf{R}_+$, $G(1) = 1$, has an unique solution $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ which is log-convex of the second order on \mathbf{R}_+ .*

Proof. On the set of natural numbers, any solution G is determined by $G(1) = 1$, $G(n + 1) = \Gamma(1)\Gamma(2) \cdots \Gamma(n)$, $n = 1, 2, \dots$.

Likewise, for any natural number n one has

$$(4) \quad G(n + x) = G(x) \prod_{k=1}^n \Gamma(x + k - 1), \quad x \in \mathbf{R}_+.$$

If we select $n = [x]$, $x = [x] + \{x\}$, then (4) implies

$$(5) \quad G(x) = G(1 + \{x\}) \prod_{k=2}^{[x]} \Gamma(\{x\} + k - 1), \quad x > 1.$$

Let $x \in (0, 1]$; from $[n, n+x, n+1, n+x+1; \ln G] > 0$ we find

$$(6) \quad [G(n)]^{1-x}[G(n+1)]^{1+x} \leq [G(n+x)]^{1+x}[G(n+x+1)]^{1-x}, \quad n = 1, 2, \dots,$$

with equality if and only if $x = 1$. Since $G(y+1) = \Gamma(y)G(y)$, we have

$$(7) \quad G(n+x) \geq G(n+1)[\Gamma(n)\Gamma(n+x)]^{\frac{x-1}{2}}, \quad x \in (0, 1].$$

Now we use the convexity of the second order of $\ln G$ at the points $n+x, n+1, n+x+1, n+2$; the inequality

$$[n+x, n+1, n+x+1, n+2; \ln G] > 0$$

gives

$$(8) \quad G(n+x) \leq G(n+1)[\Gamma(n+1)]^{\frac{x}{2}}[\Gamma(n+x)]^{\frac{x-2}{2}}.$$

Applying (4), (7) and (8) we derive the inequalities

$$(9) \quad m_n(x) \leq \frac{G(x)}{G_n(x)} \leq 1, \quad (x \in (0, 1]; \quad n = 1, 2, \dots),$$

where

$$m_n(x) = \left[\frac{\Gamma(n+x)}{\Gamma(n+1)} n^{1-x} \right]^{\frac{1}{2}}$$

and for $x \in \mathbf{R}_+$

$$(10) \quad G_n(x) = \frac{\Gamma(1)\Gamma(2)\cdots\Gamma(n)[\Gamma(n+1)\Gamma(n+x)]^{\frac{x}{2}}}{\Gamma(x)\Gamma(x+1)\cdots\Gamma(x+n)}.$$

But Γ is log-convex (of the first order) on \mathbf{R}_+ ; therefore $[n+x, n+1, n+2; \ln \Gamma] > 0$ which is the same as

$$m_n(x) \geq \left(\frac{n}{n+1} \right)^{\frac{1-x}{2}}.$$

From (9) we conclude that the sequence $(G_n(x))$, $n = 1, 2, \dots$, $x \in (0, 1]$, converges and

$$(11) \quad \lim_{n \rightarrow \infty} G_n(x) = G(x).$$

Now we show that (11) holds for any $x \in \mathbf{R}_+$. From (10) one finds

$$(12) \quad G_n(x+1) = \Gamma(x)G_n(x)[a_n(x)]^{\frac{1}{2}}, \quad x \in \mathbf{R}_+,$$

with

$$a_n(x) = \frac{\Gamma(n+1)}{\Gamma(n+x)}(n+x)^{x-1}.$$

Using inequalities for gamma function (see [7], p. 286) we obtain

$$e^{-\frac{1}{4n}} < a_n(x) \leq 1, \quad x \in (0, 1]; \quad n = 1, 2, \dots$$

Let us suppose that x is an arbitrary point in $[1, +\infty)$; from (5) and (10) we observe that

$$(13) \quad G_n(x) = G(x) \frac{G_n(1 + \{x\})}{G(1 + \{x\})} [P_n(x)]^{\frac{1}{2}}$$

where

$$P_n(x) = \prod_{k=2}^{[x]} a_n(\{x\} + k - 1).$$

By means of STIRLING formula

$$1 \leq P_n(x) < \exp\left(\frac{x^3}{4n^2}\right), \quad x \in [1, +\infty); \quad n = 1, 2, \dots$$

The equality (13) and the above inequalities show us that any function $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ which verifies $G(x+1) = \Gamma(x)G(x)$, $x \in \mathbf{R}_+$, $G(1) = 1$, $G \in \text{LK}_2$, is well-determined by

$$G(x) = \lim_{n \rightarrow \infty} \frac{\Gamma(1)\Gamma(2) \cdots \Gamma(n) [\Gamma(n+1)\Gamma(n+x)]^{\frac{x}{2}}}{\Gamma(x)\Gamma(x+1) \cdots \Gamma(x+n)}, \quad x \in \mathbf{R}_+.$$

This completes the proof of our theorem.

In the following we shall denote by $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ the solution in LK_2 of the equation $G(x+1) = \Gamma(x)G(x)$, $G(1) = 1$. Also, we say that G is the BARNES function. In the same time we introduce the notation

$$[\Gamma(n)]! := \Gamma(1)\Gamma(2) \cdots \Gamma(n).$$

Theorem 1.3. *The BARNES function verifies the equalities*

$$(15) \quad G(x) = \exp \left\{ \frac{x}{2} \ln 2\pi - \frac{x(x-1)}{2} + (x-1) \ln \Gamma(x) - \int_0^x \ln \Gamma(t) dt \right\}$$

$$= \lim_{n \rightarrow \infty} \frac{[\Gamma(n)]! [\Gamma(n+1)\Gamma(n+x)]^{\frac{x}{2}}}{\Gamma(x)\Gamma(x+1) \cdots \Gamma(x+n)} = A(x), \quad x \in \mathbf{R}_+,$$

where

$$A(x) = (2\pi)^{\frac{x-1}{2}} \exp \left[\frac{x(1-x)}{2} - \frac{\gamma(x-1)^2}{2} \right] \prod_{k=1}^{\infty} Q_k(x)$$

with

$$Q_k(x) = \left(1 + \frac{x-1}{k} \right)^k \exp \left[1 - x + \frac{(1-x)}{2k} \right]$$

and γ being the EULER constant.

Proof. The first equality is motivated by (3) and by the above Theorem 1.2. The equality $G = A$ was established by ALEXEIEWSKI ([9], p. 264); more precisely, it was shown that $A: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ is an integral function which satisfies $A(1) = 1$, $A(x+1) = \Gamma(x)A(x)$. On the other hand $A \in \text{LK}_2$; therefore, Theorem 1.2 enables us to assert that $A = G$.

2. THE FUNCTIONAL EQUATION $F(X+1) = X^X F(X)$

Lemma 2.1. *There exists a function $f: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ with the properties*

- (i) $F(x+1) = x^x F(x), \quad x \in \mathbf{R}_+,$
- (ii) $F \in \text{LK}_2,$
- (iii) $F(1) = 1.$

Proof. If

$$(16) \quad F(x) = \exp \left\{ \frac{x(x-1)}{2} - \frac{x}{2} \ln 2\pi + \int_0^x \ln \Gamma(t) dt \right\}, \quad x \in \mathbf{R}_+,$$

then it can be easily shown that $F(x+1) = x^x F(x)$, $F(1) = 1$; also

$$\frac{d^3}{dx^3}(\ln F) = \frac{d^2}{dx^2}(\ln \Gamma) > 0,$$

that is $F \in \text{LK}_2$.

Theorem 2.2. *The equation $F(x+1) = x^x F(x)$, $x \in \mathbf{R}_+$, $F(1) = 1$, has an unique solution $F: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ which belongs to the class LK_2 .*

Proof. Let $x \in (0, 1)$; from the fact that the inequalities $[n, n+x, n+1, n+x+1; \ln F] > 0$ and $[n+x, n+1, n+x+1, n+2; \ln F] > 0$ are verified, we have

$$(17) \quad \begin{aligned} F(n+1)n^{\frac{n(x-1)}{2}}(n+x)^{\frac{(n+x)(x-1)}{2}} &\leq F(n+x) \leq \\ &\leq F(n+1)(n+1)^{\frac{x(n+1)}{2}}(n+x)^{\frac{(x-2)(n+x)}{2}}. \end{aligned}$$

But

$$(18) \quad F(n+x) = F(x) \prod_{k=1}^n (x+k-1)^{x+k-1}.$$

Next, define $F_n: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ by

$$F_n(x) = \frac{1^1 2^2 \dots n^n (n+1)^{\frac{x(n+1)}{2}} (n+x)^{\frac{x(n+x)}{2}}}{x^x (x+1)^{x+1} \dots (x+n)^{x+n}}.$$

From (17) and (18) we obtain

$$q_n(x) \leq \frac{F(x)}{F_n(x)} \leq 1, \quad x \in (0, 1]; \quad n = 1, 2, \dots,$$

where

$$q_n(x) = \left[\frac{(n+x)^{n+x}}{(n+1)^{x(n+1)} n^{n(1-x)}} \right]^{\frac{1}{2}}.$$

Taking into account that $[n-1, n, n+x; t \ln t] > 0$, $n \geq 2$, we find that

$$e^{-\frac{1}{n}} < \frac{F(x)}{F_n(x)} \leq 1, \quad x \in (0, 1].$$

Therefore $(F_n(x))_{n=1}^{\infty}$ converges on $(0, 1]$ to $F(x)$; likewise $F_n(1) = 1$. On the other hand

$$(19) \quad F_n(x+1) = x^x F_n(x) [C_n(x)]^{\frac{1}{2}}$$

with

$$C_n(x) = \frac{(n+1)^{n+1} (n+x+1)^{(x-1)(n+x+1)}}{(n+x)^{x(n+x)}}, \quad x \in \mathbf{R}_+.$$

For $x \in (0, 1]$ one has

$$e^{-\frac{1}{n}} < C_n(x) \leq 1$$

while for $x \in (1, +\infty)$

$$1 < C_n(x) < e^{\frac{x^2}{n}}.$$

Now we observe from (18) and (19) that

$$F_n(x) = F(x) \frac{n}{F(1+x)} \prod_{j=2}^n [C_n(\{x\} + j - 1)], \quad x \geq 2.$$

Then the above inequalities give $F(x) = \lim_{n \rightarrow \infty} F_n(x)$ for every $x \in (1, +\infty)$. In conclusion, the equality

$$(20) \quad F(x) = \lim_{n \rightarrow \infty} \frac{[n^n]! (n+1)^{\frac{x(n+1)}{2}} (n+x)^{\frac{x(n+x)}{2}}}{x^x (x+1)^{x+1} \dots (x+n)^{x+n}}$$

where $[n^n]! = 1^1 2^2 \dots n^n$, is verified for all positive x ; this completes the proof of the theorem.

The equalities (15) and (20) enable us to prove the following proposition.

Corollary 2.3. *If $F: \mathbf{R}_+ \rightarrow \mathbf{R}_+$, $F(1) = 1$, is the solution in LK_2 of the functional equation $F(x+1) = x^x F(x)$, $x \in \mathbf{R}$, then*

$$F(x)G(x) = \Gamma^{x-1}(x), \quad x \in \mathbf{R}_+,$$

where $G: \mathbf{R}_+ \rightarrow \mathbf{R}_+$ is the BARNES function.

REFERENCES

1. J. ANASTASSIADIS: *Définition des fonctions eulériennes par des équations fonctionnelles*. Mémorial des sciences mathématiques, fasc. CLVI, Paris, Gauthier-Villars, 1964.
2. E. W. ARTIN: *The Gamma Function*. Holt, Rinehart and Winston, New York, Toronto, London, 1964.
3. E. W. BARNES: *The theory of the G-function*. Quarterly Journal of Math., **31** (1899) 264-314.
4. T. J. I' A. BROMWICH: *An introduction to the theory of infinite series*. MacMillan & Co Ltd., London, New York, 1965.
5. W. KRULL: *Bemerkungen zur Differenzgleichung $g(x+1) - g(x) = \varphi(x)$ (I)*. Math. Nachr., **1** (1948) 365-376.
6. I. B. LAZAREVIĆ, A. LUPAŞ: *Functional equations for Wallis and gamma functions*. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz., **461-497** (1974) 245-251.
7. D. S. MITRINOVIĆ (in cooperation with P. M. VASIĆ): *Analytic Inequalities*. Springer Verlag Berlin, Band **165**, 1970.
8. E. POPOVICIU: *Teoreme de medie din analiza matematică și legătura lor cu teoria interpolării*. Editura Dacia, Cluj, 1972.
9. E. T. WHITTAKER, G. N. WATSON: *A Course of Modern Analysis*. Cambridge Univ. Press, 1969.

ADDED IN PROOF

The referee kindly informed us that there exist certain additions to the results exposed here. He gave the following references:

- L. BENDERSKY: *Sur la fonction gamma généralisée*. Acta Math., **61** (1933), 263-322.
- F. JOHN: *Special solutions of certain difference equations*. Acta Math., **71** (1939), 175-189.

Facultatea de Mecanică,
Str. I. Rațiu 7,
2400 Sibiu,
Romania

(Received November 29, 1981)